
X+Z 
i -\ F rx) ~-

-
3 

X 0 ;~ 

Quiz 2, Attempt 2 ' ,· t 
Find the cdf of Y = X2 if X ~ UNIF(-2, 1) 
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- x : I vdi - I) 
X :: - \Vl(i - \) 

Quiz 4, Attempt 1 (6.9c from the homework) 

I- e - I 

If Xis UNIF(0,1) and Z = 1- e-X, use the transformation method to find 

the density function for Z. 

f R ) ~ +: ( X ( '2 )} u )( ( 'l:) \ 1J l le- 13 I 
l X Id~ I 

- 1-iO<'.t< \-½} /~/ 

- 1~ 0(-2 < 1 -t3 
I - -l 

-I 

l- ~ 1- e 

1- l 5 e -I --2. 
d -2 

t, 

\ ' 

rreeder
Sticky Note
This should be e^(-x) = 1-z. However, the ultimate solution here is correct. It is worked out correctly in the solutions posted to the homework.
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